Ten More Ten Less Battleship - 1 Name

Find six “battleships” where the
numbers are arranged where the
answers are consecutive +10, -10
numbers (e.g.68, 78, 88). There is a
two-number ship, a three- number 3 w | T
ship, a four-number ship, a five- —SEN i W
number ship, and a six number ship. Place a circle around each ship.

55 80 49 12 100 62 75

93 105 39 50 90 104 53

65 75 29 75 80 0] 31
98 64 19 93 70 4 3

10 55 9 28 60 20 13
24 44 -1 18 19 53 16

17 33 12 11 21 31 41
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numbers are arranged where the
answers are consecutive +10, -10
numbers (e.g.68, 78, 88). There is a
two-number ship, a three- number | r &
ship, a four-number ship, a five- N N s Wl
number ship, and a six number ship. Place a circle around each ship.

55 80 49 12 100 62 75

93 105 39 50 90 104 53

65 75 29 75 80 0] 31
98 64 19 93 70 4 3

10 55 9 28 60 20 13
24 44 -1 18 19 53 16

17 33 12 11 21 31 41




